BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

-50

—-100

1000

100

rm388 2/(410867 ~5046)=0.936

T T T T T T f
' ' BIC 445259 31 ABIC O. OOO AlogP 0.0000
i : x 380034.59 Ax 0.000 AlogP 0.0000 1
5 - - — — — : ]
E . i
i L e e . . _ _ _48BIC
................ S RS e A S P I [
I : ABIC —197646 456.5 ( ] X
i , M 197646 ~706.9 |
4956 : 4956 : 5046
A | | AC5 :I | AC5F | |
20 40 60 80 100 120
120 iterations
rm388 2/(410867 —~5046)=0.936
F T T T T T T f
i ' BIC 445259 31 ABIC O. OOO AlogP 0.0000 |
2 2
____________________ o e e e e g
L | |
I | |
L | | ]
I | | ]
L | | i
4956 | 4956 | 5046 |
_""'."A"'I """ ."l""l'AC}E". """ II'"'V'r'_'._"T' I_ACTsf_I__.__T
20 40 60 80 100 120
120 iterations
Fe2 8% 3231281 km/s
rm388 BLR 15000 NLR 900 km/s
F T T T T T T T T T f
e e e s e e = = = = — JBIR
NLR
Fell

20 40 60 80 100 120

120 iterations

kdh1 14-0ct-2021 16:23



